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A conducting wire with conductance of (0.9 5}
-what is the conductavity ( G ) of another
Wire of the same material and and of the same
lenmzih | bat the radius of itz cross section is

el Jhale (095 ) Jems 8 S Sl
Joaledl i A1 g el i e Al ELI [ G
Sl phbe o odeai JOal 3 dadohe ab bl oS0

3 times the radius of the cross section of the T ulgil
first wire ?
Alars B |o3s C |oas D815

(23
Electrical device with power of { 40 W ) has & 111}{];-..-1#“5111-1{['-4#_‘,4;”:,
resistance of { 10 £1) . What is the potential Rl ata o Tl S Al § g e e
Drifference needed to operate the device 2
A | B4V B | 64V C|aov D | 6400V

(3)
If the equation between charges and time 15 © ol Oy iy Alaanll ARNE SRE 1

(g=5f+Tf+9) in (mA) (mA) saan(Q=512+T1+9)

What is the current (fjat (= 2.5 5) (T=25 514 | Fiohe st sl s
A ] 15 mA B | 42 mA C | 32mA D | 9mA

(4)

YWhat happens when the potentinl difference hge Aale o g 5,8 21k Laudis oo Uils
across a condocting cvlinder increases in S Ailka G008 500 B ek
a close crcoit ™
The resistance nf the conducting cylinder .. . -

s A s L pall da e 13 5
The current through the conducting y : g x
cyhinder decreases B it sl oo pall (2 fuall SN Ty
The current through the conducting 1 ey P
cylinder increases 2 | dagall A el i
The resistance of the conducting cylinder 3 1
T v D -.'-?'_:.hull:l-l e pall da gilia S
L5)
Im the figure , what is the = [ T B R e L I L
current flowing throogh the 20 o o RTalt | iy o S S i e
resistore [ Rz ) 7 = ﬂ. T iRz ) syl
g J‘ -
(o
.|- Rz= 5L}
A h A B 20 A [ & 8 A D G0 A
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Two wire (1) and () are with cross-section

area (A, (3 A) respecirvely . If the o wires
are carrvime the same carrent |, what is troe

abowt the sarface current depsity in the wires”

(A ) g fndoas [T g 1) Pt pom JHEe
-l B Sl B e | 4 sl AN A (3 A g

T cphlah A

A|3:=—%~J||E| =31

|€le=9y |p|r=Lu

{71
TWhich of the follovwmg als a charge of . 3
{(36CY) - 2 I (3EC )W ke ddad g glagy L las
T Millamperewvali | & gtﬁ_ﬁm
1.0 Milliampere-howur | B | - wrie 1.0
10 Miltamperechm | € | a4 - e s 100
1.0 Milliampere-second | D | 4 e A 1.0
(8 §
When a thind ressstor 15 added in PamBel 1o the Cpelaglial) gllgal  le AUI0 Saglie dio) e
two mesisiors connected i Paralial L N e o e gt
What to the th [ drawn from - t
mmll.!p{m.?.!. g the carrenm ¥ il A el Bt s Byt B
Decrense | 4 |
Imcrease | g | daw
Stays the same | ¢ | 8 3 Ay
Become: iInfinrty | [ | bl dgd Y gy
i)
]huuhmc;lrmﬂnn{ Fl-u_,Fl:Ee.FhS.%lm by e | Ry, Rz, R Al i gl 200
conmected in Fowur different cirooifs as shovwn ; R .
in the following fizures , En which of the """“h‘“"*“"““‘"‘"‘”"‘”*’:":ﬂ*
circuifs the o R : £ L
equivalent resistance is the lowest 7 P A R e S LD oS A G 1 A
A C
B D

52




£2025\2024 oLl ) 5 ol paiie 12 sl JSa
[BLY
The Bgure shows two resiiors TR e Sl il JOAR Ll
Conmected to a battery . - Re =3 Ry} i b . 3
H (R-=2R,). Whatis the BV ‘A o R B
resisiore{ Ry ) ? R R. F Bl ) dagiali laka L
Al 1n B|200 c|aon ERET
I — {11}
For the electric drout shovwn in the = ok Rigpall dgily &3 G il Je Wieaie
Beore. if the battery”s electromotive :I S ool Al ) AR S D
force s {4V ), the resistance iy | (R = 1.7 ) b gilaly { V' ) g Al
(Rw1.70), and e intermal ( Rim 0.3 {0 Al dos plibali 5
Tesisiance { Ri= 0.3 0 ) SO | T Gpddl Gel A jlika e
TWhat s the ing of the anameter — =
Al 1A B| 2A CT 3A D] 9A
-I?"I
Ivo resistars {Ry = 3.0 £1) and . By = 3.0 03 Slaslia
(R:= 5.0 £) are conmected in R: =30 u’-‘EI:'-' [ﬁ._}: ;ﬂ H"';i
series with a baery and an c i e T
ammeter a5 shonn in the fisure | = menga 38 L ealy djlln Mgk
The bartery supplies " Ay cas gylmall BN S
{ Wame = 8.0 V ) and the ot (Vami = B.O V) Syt
ammeter has the resistance Al o B A
Ra =110 £F) Jias
(Ra=1.0 ). Whatis the Vet =B W { iy ) _I""_'“'_H'_”
current measured by the Parl gy SN R dns b
ammster T I
Alos0A B |0.839 A c|orsa Ip |10 A
LI (5) _ sl
Far the electric circuit shown " FE T T P e
in the figure: LR o o
if the battery's electromodne 3 il I A G kT Bl L
torce 15 { 12V ), the resastance ; a gl g | 12V ) Ry Mgl
B{RmZ40), _A_I-_ "'Il""' . {R=240)
what ¥s the elecimic current "."_ﬁu, , Tkl A kall ASD Gk L
flowing throwgh the corcmit> | 2@ 020~ ——————
A 288 A B 50A C| 204 [DT02A
. (10}
A battery is rated af (2.0 ) -

{mAh menn: mifliampere-bmar)

TWhat is che total charge in Coulombs anit { C )
of the battery can deliver when fully charged?

R0 AR ey Juad el LA Ay Ly
li.'J__‘ﬁ-l'u'.il{{. |F||:-l“ iqm'uh
AR R 5 i 1 5 g S

Al 10BC B |36C

30C

| |1s6cC
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{1
i the equation betmeen charges and dme is D o et Py el A8 S
(q=3t*+ 7 r+3) in({mi) (mA) Maw (=5 +TF+3)
Vhat is the corrent (1 )at (r=2.52) fF=15 5 ) 1) iy il Ash iad La
A | 15maA B | 42 mA C | 32 maA ID|3ma
)
A cvimdrical alumaimem wireis { 32m ) lome

of alumremm is { 2 82 = 109 Oom ) -

and has a resistance (0.2 0 ) the resistivity

WragiEen {32m ) Wfyle paetenf¥ Gu Eighat
i g Lgaglica 1Y (0.2 02 )

corrent (1} 7

4282 109 Dim)
VWhat 5 the Tadns % Area of the circlex I ) :A:gﬁ._'.l‘,hi_&_.a.i#
A.|1i.‘.lﬂx‘lli"3m C §1.436 = 10 m
Bl1436=10"m D452 =10" m
et - i 13
I the equation between charge and tme 2 A Daalla Rim N A )
(g=5F+3t) (g=5F+ 3
What is the correct expression of the

§ (7] e Al el et

i=10t+3 Cli=10t+3t
Bli=5t*+3t D
(43
TWhach of the folloving 1= pot fryge for corrent

density {j)and carrent (i}

P Lol ARES) ey L o S e

T 1) ot i ()

Unit of current demsity eqgual to Unit of current density equal to
A | Ampere per Meter C | Ampere per Meter square
o L gl g g i) WG Ll By M n il gl g gl gil) AN o Ban g
i : !
B J_T Ih) I'Ij_"dﬂ.
- (2)
_ % 15 equal to the omt of | LS kgl iy i N
14 1V
183 == ==
S €| "
1A% 14
= g P
Bl 15 - D S
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(6)

An electrical device nath a power of { 364 §4 )
is commected to A source of electromodve force

ALEN e DB W )43 S T e 55 o3
AV =T V) Ay il Aadal] a5 gh jdatias jht

(V=220WV)._ L Sy
What is the resistance of fhis device” I HA Sytia gt T
Al son |Bloz3n 1 la4an ID 200
= L7 — E
TWith equal resistance was - i b o gy i Bl e Ll
cennected with B in parallel , :Ilqi e s
wihnt happens to the magnitude > by lha R s giliad pn 5 50 e
of the current flovwine throush —_— g kgl b BaGall AGT lake s
the battery ? R
~—
Becomes twice | 4 | % O e Lo mopaiy
Becomes hatf | B | 4 (A0 e wieand myeay
Stays the same | [ |9 JMLd Ay
Become: four times | D [ Sl ISl day J myeny
(8 )
Three identical resistors conmected tozether 1 A A gy g Al A g ks ks AT
parallel If the I of the three resistors AR e gleall AaHEAD b fdall Rl M g D
B 6.0 ). What is the resistance of Ay {B.015)
resistor of them™ " i a g o ghhal] ks
Al 6on | B |2o0 | € |1200 | D{z2700
{16 )
The figure shows three o S ooy g% B ils JEEN S
:E:ch;:lnli'tﬁutﬁﬁ connecied il S g Alaia e glhe K
The switch 5 is initially dar U, Ao AT 5
closed . If EMIAD opened the - rlGikadl moiy
wwitch 3 e .
1 afiall A RGN Al ey Wk
what happen: to the carrent o 7
flewing in Re ? Ro
. |
Stays the same | 4 | & L5 Ay
Increnszes | |§ | S0
Decreazes | ¢ [ Jay
Becomss ze10 | T | ks Moy
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{50
The figure shows a part of ; Fods b dlas p JEEN Sy
A junction in an electric ‘:-F x
circait 1 - L
TWhat is the magnitads and [ 3 F ) il vigdd g hike e
direction of current { I} ? —-..__:L_-ﬁ-':i-
TOrmght [ A | oy 1.0
GO0right | B | Jud 6.0
10left | € | eyl 1.8
BOTeff | D | il 6.0
(6]

An RC arcunt conssstimpg ot a (120 V)
battery. The charge on the capacior as
n function of fme = given by :

Qe = 6.0 x10™* (1 — e I/
TWhat is the capacitance of the capacitor in
this circuit

ek el (W 1Z0 ) ey gl RC 6
Fai e DL E

=60 x107* {1 -e 91
Vbl b il Ay ) A b

c

a.|5.n:-c1u'5 F |B |T_z:1n'5 F |=: IE.{H:‘I[_I"' F |IJ- |i¢:.u:-111-"i F

..-'l_.[l:[l'l:l:i:l::l]:lﬂ].E_ﬁ.E:‘lll‘Ei[ CAS 131 JEAN e hieals ]
|:r|.={|:5.ﬁ.}.llﬂ:{r_:=ﬂ1ﬁ|;|_. 2= 0.2 A) 5t =05 A
VWhat is the magnitude of { 12 )7 i sk
Aloaa B |02A IDjoTA
: (14}

An RC crcnit comsisting of a (12.0 V) Adas el (W 120 ) Agidy gaes RT 5 u
battery. The chkarge on the capacitor as - . .

F i Ak it adi
A funciion of time 5 grven by - e

Gty =6.0 x 107 (1 —e V01 qy = 6.0 x 1074 (1 —e"t/01)
What is the capacitance of the capacitor in TEA b il Ay 4D Al L

this circuost ¥

A |5.nu1n'5 F |n |r1u1n" F

|c | E0x10~* F |n | 60105 F
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. . L]
According to the figure, if el s A o SRS Gk
the reading of the sensitive

Ammeter {(A) is Zero,
(Ri=6 ) (R:=4 (I} amd

(Ry= B0,

what is the magnitade of R4 7

i {-H1=E;I1:|mlilji-
| (Ri=B Q) sR:=4103)
T R bl AL

l | s () et et

A |4 10

|B |12 0

|
c |6 o | D18 o

When being used to measure carrent, an
amemeter shonld be connected in

Gl gl et 1 g 1 ] | gl At i
i et gl

serses with the carcuit

A | A b A

paraliel with the cmoms

B |l b A

sertes with the voltmster

C | il e N2 e

parallel with the voltmeter

D | Al e g pgl A

What 15 the current flowins
through the loop shown m

the fizure ?

A iy S A ke e

V:=3V R:=20

£ JRAN el ke

| -

A

1 A Clackwize

eheal fie g ]

3 A Clackwise

el ji g 3

1 A Connterclockmse

deladl i e ]

1 A Counterclackwise

=N Lol |--0 g

el fie e 1
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(1)

The figure shows the
magnetic field lines of
A permanent magnet
Which of the folloming
15 correct when
deternuning the north
pole ard south pole of
the magnet 7

B is the north pole A Al wulsill 4 B
A 15 the north pole B Pl kD 92 A
A 15 the south pole C L i e I ¥
There 1sn tenoug;;l;tsa to determine the D ) 23 RS iy 3039 ¥
t2)

Which of the following rows show the
correct position of the magnetic poles of
the magnet and compass ?

b gt 31 ¢ gl Dm0y Al g S0 Ce
AT A ga Pt Sy Dy A g0

" iyl g dgpitiinalt
North Magnetic pole of | South Magnetic pole of | North Magnetic pole of | Scuth Magoetic pale of
the magnet the magnet Compass Compass
Al ageiial Gt |l A Bl Sl il i o el ak)
SV PV e aal J T el
A 1 2 3 4
+ T
B 1 2 4 T 3
+ - -3-
C 2 1 3 4
D 2 T 1 T | 3
Al A B|B c|C D|D
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{35
Which of the fallowme 15 equivalent to the el | Tipoall el B g o S 421 Spn
unit of masmedsc field { Teska ) 7 { e )
u B m : L Ur -5
J:!.. T l ”-. E" rm {. E-- m I. F
{43

Two particles with charges of equal
magnituds are sjected with the same
velacity perpendicular to uniform magnetic
field as shovm in fisure . which of the

U R i s [igimatly S e St
haf Gl | liliin gt e L g Bl ey
P L PR Y PRI S W T

following table rows is correct im terms of ? Lagla 6 Adat
the tvpe of charee on each particle
|3 2 ® ® 8 ® ¢ & Particle (1) | Particle (2) | Parficte (3)
| @ & ale 82 @ {1 Vol e [ 3] mpadd
| A | Peosibivecas | Positive wess | Poalfive s
| & Lt #‘l’ L — ’ . 2
B | Hepative «dw | Meutral Jdeds | PoBItIVE wgpe
(@ 8 elaje 8 @ & C| positve.ss | Meutrsi jes | Negative wdu
eBs @ ®» @ » & o | D] Megativeie | Megative .5 | Megative 2.
Al A |B| B clc D|D
[.5]

A proten moves in the negative ¥ i ol T g iy i g g o iy
x direction, through n unform N R K
magnetic feld in the nezabve v 11 S Ll 1
direction. W hat 15 the directon i | T B aih ek
of the magnetic force acting on 224 x ST - e S -E
the proton? W ¥ B ¥ v

In the positive ¥ direction A -..-.,p-.'llﬂ..-i‘.l#-..n.,h

hﬂEﬁ_lETEFﬂiIE{fmn B .,..'I.-uu..J,;h_u--l.,.'r.

Out of the page C Aiad = by
Into the page D aahanli E.J-Iu-
{6}

Force 15 measared in Newtons . Whach of e _ T o !
the following is equivalent to Newton 7 A AN gy e . el Ban gy B3N S
2' " &
A‘"‘*T ‘E‘{:.E,T cl AT ‘n\-::m‘r
5 Fr T 5
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Tmo resistors I:E1=-3'|:| f.'.']'-i.'lll:-l By= 3.0 00 Slaglds 8
(R2=3.0 1)) are commected in R:= 30 E._dl I:F-"}: ;M:‘
series with 2 batery and an . W Olgenys (B2 =20 60
ammeter as shavn in the fisure | = e 3 L ey ey Mo
The battery supplies " P ops jylmall KN S
[ Vo = 8.0 V ) and the o Al (Vimi = B0V} daylai
ammeter has the resistance Wi = .10 £3) 2udl daglie AL
( Ba=1.0 0} Whatis the V., =BV {H:_ . h}i. uu"‘_’::
current msasured by the e - y
ammeter T
Alos0A B |0.883 A c|orsa Ip|10A

g {2)
In the circent shown i the gl o JEEN b Al §ial b

feure . Which of the vobimeter

'|I'-n-|=i_"|:1'|i'

S i o R e
| S
o
Al X B|Y [';|1 |D | XandZ
(3)

According to the fizure, i the
reading of the sensiare
ammeter (A) & zeT0

(R, =24 {1}, (R: =B L{}) and
(R =4 01} whatis the
magnrude of R 7

et B S 1) o JESI G
LR WY (e ) e
iRz=80):«{Ry=24100)
'R Jilalad { Re=4 0 )4

Al 2o B|l4D
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(7}
The figure shows the masnetc fisld hnes e mglillind) Tl o glai o) gy
around rwo masmet bars . Which of the k) [y Sl b o0 g gkt i
followme represent the north poles of the el gl

magmets ?

AlB . C Ig|B.D c]la.c in|lAa.D
(B
The figure shows a uniform = e Lt ngliin Flgs JEAN proin 3
Il.l;gumﬁl-_l-ﬁﬂl:ln'e_cteﬂmtht- ks Tt T .y gl
left and a wire Carrving a current | =
inta the paze. =I"4 . o Al
What i the direction sf magnetic |[B. @ § A B 3 gl § 0 41
force acting en the wire? - Tl
]
Upowards A e
Dewnwards B S
toward the left C Syl g
toward the right D Caegdl g
(3}

An elecirom 13 movime af { 3 x 10° mis )
perpendiculariy o 8 masnenc fiedd of
(0.83T ). What i5s the magninde of the
marnetc force acting on the electron™

s [ FRA0DPMIS ) AF ey (g fER o jady
0B T ) s hikn megitliin Jps A
LT B LS - R L g U P

Ajgxtio™N  |B [2x10-vN |€] 2410 N [P | 24 x10"N
(10
Based on the mnenetic force on a current- A 1 el S gmgliidil] b gl Al L |
CATTVIRE Wire equaton. At what angle (1 B R oy ) Al gl e A i ey L
the force on the wire is the least ? " ks
F = ILB (sin &) F=ILB {stn &)
ife=or _ [Ble-o  [clo-er [B[e-w
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18 )
Which of the fellowing is equal to the onit of Jeall Bal g B g 5 oy o b 5
the masnetic feld stremsth Tesla (T) ? TN Sl | prmgltliiinld
&‘ s \ﬂ L |c NA D | Nm
£ m s m A
{21 )
According te the fisure, in 2 8 6 & 8 58 | wioalesed b manl;
what directon the proton {(p) ¥ 2 "
will be deflected as it emters - LT et iy hndi () Lo
the constant magnetic field & ® & 9 B & B ) il | pphitaiionl!
(B) 2 = Ve & & =
=
& B ® g B 3
[ |
Teoward v positive A e pall ¥ olady
Toward v nesative B sl 3 gty
Into the page C Aadeal Sala
Out of the page D el m A
{E_!_T
A pariticle with charge q = +3.2uC Aal e o JLEE L5
and speed (v = 320 m/s) , enters ¥ B A ey (g =#3.2uC )
a uniform magmetic feld of = - Tiges My (v = 520 muis)
I:EI-=I:I_.2T,|- IE-E-E!EELIII.&EEE‘II.I’E. L (B = 02T ) o btk phiihs
What is the magnitude of the ST | Al gl D e L
magnetic force ¥ = F gl A
N
Al1664pN | B |3328uN | ¢ | 288 N D | 520 uN
{23)

According to the fizure, an

solated segment of wire of length

(L =E_3 m) carries & corrent of
magnitude (/=15 A )atan
angie ( @ = 60° ) with respect o
uniform magmetic feid

(B = 3.4= 10 Th. What 15 the

masnitude of the magweiic force

on the wire ™

S g e e Do o e Wb g
i | L=8.3 m jJphy sl
(i=1.5 A ) %Gad Ay gs
ey L {8 = 60" ) A
AB=54=107"T)

b Al A geaghiiiall 5 phll liia ba

T

A |025N

IB 216N

033N

1:|E.'§B:H
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{24 )
Acuﬂmcumis.ti of {480} loop and a codl (Y ) wilall g AEE (40N Cpm gy () il
(Y) comsizts of (900 loop, If the torgue on A Al ol 8 U AL MM ) Cee gy
exch loop of the codd (X} 15 equal to the 2 AN g lanng () iilad chlila Spn il 36
torgue on each loop of the cod (YY) What i (Y )il e fe ila 5 e At
the ratio of the torgques Tx o ?E'_A:;“wah
¥ ¥
Al 2 B| 2 |c I 4 n| 2
E] 2 9 4
(23]
In the equation [ B = -l s ], what dees m oy
- fix ). [ B= g dliiaall
{ x ) represent 7 19X L*) [ g X !
The radms A RN el
e acceleranon H f Jeeali
‘The diameter C i
The ancle D w4l
i1 . —
The fieures show & straight current-c ' ool it o | Bt Ui AT e ] e
wire placed in n umiform mazmetic field . In o e gt s
which fgure the magnetic force acting on o A D Al B RN g0 e b
the wire is the smallest ? L L
8 \\_ I I
A _‘:\\\x B C D
\\\ B B B E
(18}
A 12 V battery 1s comnected : mgile a 12 W ay ey et 5 a3
Ioad [} resisior usimg a rxgad ;_""'"""""" ¥ gl Al daCes Ails alubily 4 )
oy epdons deorill ] {1700 L | U I e
emd o extemds | ! : - 4T Tiaa
; ; : amsamr { il
a region with a uniform 12V 2-1"“-1;“1 yPiE uua—‘*-I;I-—IJET
magnetic fisld of B =02 T AR x| 4x A sB=0.
directed mto the page as —"""I'U'i'?"h-"" i
shonn m the figure. What 15 . Tadlal J= aylidh b gih 4 bs
the net force on the loop 7 ]
AlosN |B| o8N c|12n ID| 18N
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{27 )
What iz the comstant { g ) called ? T e ) Sl e illey LIl
The ] iy of free space | A | B1AL Sl dyaillad
——The ematic candlnciviy aTTres space |31 | PIAEE T s
The mngnetic resistivity of free space | € | 1A Sl Ga il
Tise magnetic permeabadity of free space | D | 2940 Sl LD
- (2)
A current element produces A masnetic gl fhiianl) | b emglelins Vit il i oy

field in the region surrounding it Ar amy

: S eladd b Akl i e .
point in space the magnedic field produced et iteall Ll gy o 4 e

by this carrent element points in a direction g b RED el e mIUN
radial from the current element to the - PR 2 s
point in space A slaaid b BRI A i e g el
parailz] te the current element B AN il g
perpendicular to the corrent element and - o
to the radial direction . o Al sl b g il sl e gl pes
{18}
The direction of the magnetic .5.....1.. ot U ol e Tl plged
field at point {a) : . Crglia 4N ) il s LN gy e
W L E eF
-y A
e
Al 5 wse B N J= ClW w2 |D|E s
(413
Acssume that a lighteing bolt can be modeled | A &8 s Ao iy diehes Sl Sy 4l e 3l
as & long, straight Eee of current. If (150 AIT0 Cpla ol Llal & ja W, syl Juk
C] Sl hiln L, (1,50 1077 5 Lah b i
of charge passes by a point in {1.5 x 107 5), At G | 260 M)A e glilihad
what is the magnitode of the masnetic fHeld - R
at a distamce of { 26.0 m ) from the
.#LI Te9x 10T B I 4212102 T
c[?2Zx 10T p [111x10° 7T
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£
A wire 15 caTTYInE 4 current [ Tia } o oy i gk I i
[ fia ) invtes the page a5 shown im ’e Ankeall JEba M) s aalpd]
the fisure. In which directhon u!:m_,..,u.i..u“mh
does the magnefic field point (Q ) P ousii
at points P and 0 ? i,@ -p
n
to the rizit at P and gpeard at O A [ Sekill e A=Y g () Al dim Cyadd A
upward at P and to the rehi at O B [ Akl dis Cyagd A g (P Al S e
upward at P and to the Left at £ iC (D) Rbkilt ase jeagd] A g (P Rbkill aie | =Y
dormvard at P and to che rieht at & D | () ARkl i gad A g () i i %
. (2]
Wire 1 has a current Honme ; ; - PR TN EL T
out of the page iy, 85shown | Wirel wire 1 Aaladl L1 oy 45 ot
in the fipure. Wire 2 has —(®) = G —»x Al i Al e iget
a current flovwing mnte the | [ Alpgh e pages GG dLD
page iy, TWhat s the direction . EARD pad
| of the magnetic field st paint P 7 P Akidl ke [ i 6 il | pemgliiiall Joaeall kol e

uwpward in the piane of the pare

A

downward the plane of the 2 B 4 -
The magnetic field at point P 5 zero iC Vet g glny [ adhil] d5 | magiodiiad had

J—fﬂ#-l-l-l-ﬂ,‘:rl-uu'i

The wire in the fizure &5 carrving T FOL L
acurTent § m the positye J-direction O JE e eeghiiall Pl s L
That is the direction of the TP i B ) Sk
resulting masmetic feld at point
(P} And{FP:)?
AlF(+Y) and Paf = X) B |Fq-Y) and Paq =X}
C !.1+T§EE:—I’: D |Fi-T) and Prf - %)
(3]
Compass meedles shovw the magnedc - P e e
Beld aroumd & curTent carTvimeE wire. f-'—»,& kgl | G A el e o aminad
In the fisure the northpomting end 2 s Sl A A ey oA e i 3
of the comaparys needie corresponds + @ i
1=
N 0

the red end ',; gl ol

tise biue end B o T el
either the red end or the blue end depending | ~ A Ayl e el T g aalil o dall el
oo oy the comapass 1s moved toward the Alled] #lpd e gpll Lo o o
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2 lq-lp
Mﬁgmaewad:nit 70 I ET Y TR AT T
Calculat the equivalent AN s kel cpean]
resistance in the circuit . i 263
WAy
i a
‘o Varrs e
s I
IF
1 1?—11
ACcordimg te the Oromt 2 akid 5 bl e Lt
bellow - - ' “@ | @"_ { Bz § el Bel R d -
1- Find the reading of =-_J=_+
ammeter { Az ) — E = [ By ) ih il -3
2- Calculate the readimg of o | o
ammneeter { A )
1 - — =
1
Q-3
By amalvring the onifs - 1 el gll LBy g
Vhat does the umit ampere egual to in Saall p o gl ARy e R g s (ke
terms of mewton , teskas | and meters -
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(D=4
In the circast shown im the fisure JEIH b i padd B glpeall B el e S Yy
Answer the follewing o B e Sdlgdl gy el
I- Calculare the current passing through Lot b 5 ]
every nmmeter * F el 5 b el AN Bl et ]
?-Calculate the carrent passing throwgh ikt moh aay Syal U5 b Aadl S Bil et 22
every ammeter after opening the Switch ?
1 B
b4 -h s 40
1574 o—o P
- - __E'f =&V BV
ok 0
FEs 20
=are P -
2 _ _ S _
(] e BIOPNLIS .. (G =5 )
As shown in the fipure an 2 = ) o JREN e b Lal
electrom meving At velocihy bt SE e S . ¥
: 2 2 B o (V= T20 mis ) 4 ey & ady
(v = 720 rmis) enters a uniform - a . o B B ity
masnetic feld of BE=24x 10" m| = P "":E' = 2 4% 107" m)
Calcolate the acceleration of the ol PR ; =
electron .[ Imnore the effect of " - ME-"""‘“‘"‘"“
enrth sravitaton ] o N o5 =T O3B o= I:"l-".-":"""'H"""J.I .JI;E_F'--I]
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Im the circuit bellow : el Bl b
I- What 15 the current 1n a b el ASh Bak be -]
(R=10 @) = e f(R=100)
2- Find the current in N b el il g gh T
{(R=6L1) N (R=60)
6
lﬂ.-':l'l
In the circuit bellow | iitiiad” ERE g sl 5 sl
nfter the switch 15 closed . o 5 )il
What is the current in L = a o e il Bk
(R=10 @ ) and * - = (R =660 (R =100y
(R=6L) g
. 1k
6\ 47
- ] e BOINUS .. (O =8
By analvzing the units : r ol ) Laly Ca
What does the anif teslas ampere egual to in el g o el A 2 el By g ghomss B
terms of newton | amapere | and meters 7 Tl g
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Ll JS

([Q=-9)
The fisure represent a cromt 150 3000 . dapiteg g B pila a1 iy
Calculate the equrralent [—4mr A o ABELD i pllall el
resistance in fhe circodt g (= L glah
-|"'I|I'-.-|-n|l e —
(010,
According to the droait _— T e
bellow : T i
1- Find the readms of B sl w1
ammeter A x = a a = By Al wel i a3
2- Cakulate the readmg of {8 =g -
ammeter A, @ .E'_}_.
| |
(6

Caboulate the ameount of mazmetsc held af the
podnt {n } and determine its direction

A G peeglehiiad] figeall piek cemnt | pigeall JEIN B

< Sllad] aio y i A

I=54A

0.04 m _H:i
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(7
Cabculnte the ameunt of - - Sk el 2 ghauadl JEA ]
s ddatie | T imm e T e o
its direction . | iz 1A c E=1ZA L dehhadd aas g (T p
{ B
As shovwn im the figure . A wire - 7 g g bl | phgall  SEAN oy
W'F'mﬂ H-IE}E A RS 13 o | a8
amount and direcrio LN AT et gl
E_'ﬂzmﬁdumm{a} 3 l.,.l,..:uh._‘-l,"EIfE_ﬂx‘Iﬂ"T:
1- Calculate fise current in the 5 P g gl o
: — ok all i) Gk sead o
wire and deternine its e ———e Aalacl dia g
direction Aeapbilall 5 kN e a3
2- Calculate the magmetic force o et B gy L1y AR e el gy e AR
“Et??ﬂﬁﬁf;"ﬁm " e | 2Ry e Ll gl N et padald
_ Il:jl;lltg;l:l_x.. m[ll]x‘lm} phladt am g 30K 10 mis ) e ke &5y
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